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Answer all questions

Ox (40 points)

Answer the following queries based on the relational database described in the SQL Playbook.

Easy (3 points each)

1. List the names of employees who earn between 15,000 and 25,000 inclusively (i.e., include 15,000 and 25,000).

SELECT empfname, empsalary

FROM qemp

WHERE empsalary >= 15000 and empsalary <= 25000;

2. Which departments are on the highest floor?

SELECT deptname

FROM qdept

WHERE deptfloor = (select max(deptfloor) from qdept);

3. Find the brown items sold by Navigation.

SELECT qitem.itemname

FROM qitem, qsale

WHERE qitem.itemname = qsale.itemname

and itemcolor = 'brown'

and deptname = 'Navigation';

4. List the departments sorted by floor number and within floor by department name.

SELECT deptfloor, deptname

FROM qdept

ORDER BY deptfloor, deptname;

5. What is the average delivery quantity of sextants.

SELECT avg(delqty)

FROM qdel

WHERE itemname = 'Sextant';

Hard (5 points each)

1. List the items sold by departments that have not sold map cases or compasses.

SELECT itemname, deptname

FROM qsale

WHERE deptname not in

(select deptname from qsale where itemname = 'Map case' or itemname = 'Compass');

2. Report those items delivered by suppliers who have made exactly one delivery to the Navigation department.

SELECT DISTINCT itemname

FROM qdel

WHERE splno in

(SELECT splno  from qdel

where deptname = 'Navigation'

group by splno having count(*) = 1);

3. Find the suppliers who deliver all the black items to the Clothes department.

SELECT splname

FROM qspl

WHERE not exists

(select * from qitem where itemcolor = 'Black'

and not exists

(select * from qdel

where qdel.itemname = qitem.itemname

and qspl.splno = qdel.splno

and deptname = 'Clothes'));

4. You have been told that the profit on the sale of a Pith helmet is  $5. Compute the total profit by department for all departments that sell pith helmets and order by decreasing profit.

SELECT deptname, sum(saleqty*5) AS profit

FROM qsale

WHERE itemname = 'Pith helmet'

GROUP BY deptname

HAVING count(*) > 0

ORDER BY sum(saleqty*5) DESC;

5. Report the suppliers who have supplied the Recreation department and have also delivered Pith helmets (not necessarily in the same delivery).

SELECT DISTINCT splname

FROM qspl, qdel

WHERE qdel.splno = qspl.splno

and qdel.splno in  

(select splno from qdel where deptname = 'Recreation')

and qdel.splno in

(select splno from qdel where itemname = 'Pith helmet');

Yak (24 points - 8 for each)

Answer each of the following:

1. A car manufacturer has asked you to design a multidimensional database for its European marketing department. What identifier and variable dimensions would you select?

Identifier Dimensions


Make


Model


Engine

Dealer

City

Country


Date


Payment type (cash, lease, loan)


Customer age group, gender

Variable Dimensions

Revenue

Costs

Rebate

2. Write a stored procedure for the following data model that can be used to change the number of planned hours by a specified percentage for all employees working on a specified project. (i.e., project id and percent are parameters in the procedure).
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create procedure project_increase

(in in_projectid integer, 

in in_percent decimal(5,2))

language sql

begin

update daily_work

set plannedhours = plannedhours * ((in_percent/100) + 1)

where projectid = in_project
and workdate > current_date;
end@

3. Answer the following questions related to data integration.

a. Global Electronics has nine factories in the US and Asia producing components for the computer industry and each has its own information systems. While there is some specialization, production of any item can be moved to another factory if required. What level of data integration should the company seek and what systems should be targeted for integration?

High. Integrate most systems especially production planning and inventory
b. European Radio, the owner of 15 FM radio stations throughout Europe, has just purchased an electronics retailing chain of 50 stores in Brazil. What level of data integration should the company seek and what systems should be targeted for integration?

Low. Little scope for integration.
c. Australian Leather operates several tanneries
 in Thailand, two leather goods manufacturing plants in Vietnam, and a chain of leather retailers in Australia and New Zealand. Recently, it purchased an entertainment park in Singapore. The various units have been assembled over the last five years and many still operate their original information systems. What level of data integration should the company seek and what systems should be targeted for integration?

Moderate. Integrate leather business but not recreation park. 
Auroch (20 points)

Draw the data model for the following freight table taken from a mail order catalog.

	Merchandise

Subtotals
	Regular Delivery 

7-10 Days
	Rush Delivery

4-5 Business Days
	Express Delivery

1-2 Business Days

	Up to $15.00
	$4.95
	$9.95
	$17.45

	$15.01 to $30.00
	$5.95
	$10.95
	$18.45

	$30.01-$45.00
	$7.95
	$12.95
	$20.45

	$45.01-$65.00
	$9.95
	$14.95
	$22.45

	$65.01-$90.00
	$11.95
	$16.95
	$24.45

	$90.01-$125.00
	$13.95
	$18.95
	$26.45

	$125.01-$200.00
	$14.95
	$19.95
	$27.45

	$200.01 +
	$16.95
	$21.95
	$29.45
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Hereford (16 points)

The International Thesaurus of Quotations has commissioned you to create an XML version of in its current edition (see the portion of the sample page that follows). Draw a hierarchical data model for the Thesaurus, write the data schema for this model, and the XML code to store the data for the entry for 1004. UNHAPPINESS.

	1002. UNEMPLOYMENT

	1. A man willing to work, and unable to find work, is perhaps the saddest sight that fortune’s inequality exhibits under this sun. THOMAS CARLYLE, Chartism (1839), 4.

	2. We believe that if men have the talent to invent new machines that put men out of work, they have the talent to put those men back to work.  JOHN F. KENNEDY, address, Wheeling, W. Va, Sept. 27, 1962. 

	3. No one gains from a fair employment practice bill if there is no employment to be had. JOHN F. KENNEDY, State of the Union Message, Jan. 14, 1963.

	1003. UNFULLFILLMENT

	1. Meetings that do not come off keep a character of their own.  They stay as they were projected.  ELIZABETH BOWEN, The House in Paris (1935), 2.1.

	2. What we have never had, remains; It is the things we have that go. SARA TEAS-DALE, “Wisdom,” Dark of the Moon (1926).

	1004.UNHAPPINESS

	1. A man should always consider how much he has more than he wants, and how much more unhappy he might be than he really is. JOSEPH ADDISON, The Spectator 1711, 564.

	2. Nothing is miserable unless you think it so. BOETHIUS, The Consolations of Philosophy (A.D. 524), 2.

	3. Melancholy cannot be clearly proved to others, so it is better to be silent about it. JAMES BOSWELL, London Journal, May 17, 1763.
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<?xml version="1.0" encoding="UTF-8"?>

<xsd:schema xmlns:xsd="http://www.w3.org/2001/XMLSchema">

    <xsd:element name="thesaurus">

        <xsd:complexType>

            <xsd:sequence>

                <xsd:element maxOccurs="unbounded" minOccurs="1" name="word" type="wordType"/>

            </xsd:sequence>

        </xsd:complexType>

    </xsd:element>

    <xsd:complexType name="wordType">

        <xsd:sequence>

            <xsd:element name="wordid" type="xsd:string"/>

            <xsd:element name="wordtext" type="xsd:string"/>

            <xsd:element maxOccurs="unbounded" minOccurs="1" name="quote" type="quoteType"/>

        </xsd:sequence>

    </xsd:complexType>

    <xsd:complexType name="quoteType">

        <xsd:sequence>

            <xsd:element name="qid" type="xsd:integer"/>

            <xsd:element name="qauthor" type="xsd:string"/>

            <xsd:element name="qdate" type="xsd:string"/>

            <xsd:element name="qsrcetype" type="xsd:string"/>

            <xsd:element name="qsrcename" type="xsd:string"/>

            <xsd:element name="qsrcepage" type="xsd:string"/>

            <xsd:element name="qtext" type="xsd:string"/>

        </xsd:sequence>

    </xsd:complexType>

</xsd:schema>

<?xml version="1.0" encoding="UTF-8"?>

<thesaurus xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance" xsi:noNamespaceSchemaLocation="file:/Volumes/VST/XML/thesaurus.xsd">

    <word>

        <wordid>1004</wordid>

        <wordtext>Unhappiness</wordtext>

        <quote>

            <qid>1</qid>

            <qauthor>Joeseph Addison</qauthor>

            <qdate>1711</qdate>

            <qsrcetype>Journal</qsrcetype>

            <qsrcename>The Spectator</qsrcename>

            <qsrcepage>564</qsrcepage>

            <qtext>A man should always consider how much he has more than he wants, and how much

                more unhappy he might be than he really is.</qtext>

        </quote>

        <quote>

            <qid>2</qid>

            <qauthor>Boethius</qauthor>

            <qdate>A.D. 524</qdate>

            <qsrcetype>Book</qsrcetype>

            <qsrcename>The Consolidation of Philosophy</qsrcename>

            <qsrcepage>2</qsrcepage>

            <qtext>Nothing is miserable unless you think it so. </qtext>

        </quote>

        <quote>

            <qid>3</qid>

            <qauthor>James Boswell</qauthor>

            <qdate>May 17 1763</qdate>

            <qsrcetype>Journal</qsrcetype>

            <qsrcename>London Journal</qsrcename>

            <qsrcepage/>

            <qtext>Melancholy cannot be clearly proved to others, so it is better to be silent about it.</qtext>

        </quote>

    </word>

</thesaurus>































� A tannery converts raw animal hides into leather.








